
 
 ADDITIONAL CHILD SUPPORT DATA SHEET FOR UNDUE HARDSHIP (SECTION 12(3) & (4))  
 STANDARDS OF LIVING TEST 

 
 
STEP 1  Establish the annual income of each person in each household 
   Sections 15 to 20 less total tax payable on this income. 

 
 

 
 

 
Guideline Income 

 
 Gross 

 
 Tax 

 
 Net 

 
 Payor’s Household 

 
Recipient’s Household 

 
 Payor 

 
$ 

 
$ = 

 
$ 

 
$ 

 
 

 
 Recipient 

 
$ 

 
$ = 

 
$ 

 
 

 
$ 

 
 

 
Other Persons in Household 

 
 

 
 

 
Guideline Income 

 
 Gross 

 
 Tax 

 
 Net 

 
 

 
 

 
 Payor 

 
$ 

 
$ = 

 
$ 

 
$ 

 
 

 
 Recipient 

 
$ 

 
$ = 

 
$ 

 
 

 
$ 

 
 
STEP 2 Adjustments on an annual basis - For Both 
ADD: (Net of Applicable Income Tax) 

 
 

 
 

 
 

 
Guideline amount before claim for hardship (Recipient Only) 

 
 N/A 

 
$ 

 
 

 
Any amount of child support received for any child after tax if not already 
included in annual personal income 

 
$ 

 
$ 

 
 

 
 TOTAL ADDITIONS AMOUNT 

 
$ 

 
$ 

 

 

 

 

 

 

 

 

 
DEDUCT: (Net of Applicable Income Tax)  

 
 

 
 

 
 

 
Guideline amount before claim for hardship (Payor Only) 

 
$ 

 
 N/A 

 
 

 
12(2)(A) High level of debt 

 
$ 

 
$ 

 
 

 
12(2)(B) High access costs  

 
$ 

 
$ 

 
 

 
12(2)(C) After tax amounts of other support orders 

 
$ 

 
$ 

 
 

 
12(2)(D) After tax amounts of other child support  

 
$ 

 
$ 

 
 

 
12(2)(E) After tax amounts of support to any person due to illness or disability 

 
$ 

 
$ 

 
 

 
OTHER (specify) 

 
$ 

 
$ 

 
 

 
 TOTAL DEDUCTIONS AMOUNT 

 
$ 

 
$ 

 

 

 

 

 

 

 

 

 
STEP 3 Result of Steps 1 and 2 is: 

 
 Add up to 

 
 Add up to 

 
 

 
Total Household Adjusted Income 

 
$ 

 
$ 

 

 

 

 

 

 

 

 

 
STEP 4 Establish from table the low-income measures amount for each household  

 
$ 

 
$ 

 

 

 

 

 

 

 

 

 
STEP 5 Determine adjusted household income ratios  

 
 

 
 

 
 

 
Total household adjusted income - Step 3 

 
$ 

 
$ 

 
 

 
Divided by 

 
 

 
 

 
 

 
Low-income measures amount - Step 4 

 
$ 

 
$ 

 
 

 
Equals 

 
 

 
 

 
 

 
Adjusted household income ratio  

 
$ 

 
$ 

 
STEP 6 The household that has the higher ratio has the higher standard of living 



 
 


